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= = T AV 7 TRV T = = TR AV = AV =] =
1 100kN/M%#EZ % - ~ -|3mzEEBZ S -~ - -| 100kN/m%#2% % - -~ -|3mEREZ D ~ -
Zh s 1.00 {000 ~ 773 99.13 | #ns | 0oo ~ 773|233 11.78 zh sk 1.00\|5.00 ~ 1076 99.13 | ThS | 65.00 ~ 1076 2.33 11.78
2 100kN/mM%#82% | 1.00 | 000 ~ 091 113.59 |3m%E#BZ 5 ~ -| 100kN/m%#BZ25| 1.00 | 1055 ~ 1330 113.59 |3mZE#BZ5 ~
Lt 1.00 | 091 ~ 869 100.00 | #h5 | 000 ~ 869|216 10.91 FHnLs 1.00 | 5.00 ~ 1055 100.00 | #hdst | .00 ~ 1330)| 2.16 10.91
P 100kN/mZ#BZ 5| 1.00 | 000 ~ 028 10417 |3m%EBZ3 ~ -| 100kN/m%#8Z5% | 1.00 | 1055 ~ 1130 104.17 |3mZEiBZ5 ~
Zh st 1.001028 ~ 807 100.00 | =hlst | 000 ~ 807]222 11.20 Zh s 1.00)5.00 ~ 1055 100.00 | =hds | 5.00 ~ 1130|222 11.20
4 100kN/mM%#BZ % ~ -|3mEEBZS ~ -| 100kN/M%#BZ 5 ~ -|3mEREZ D ~
Zh s 1.00 | 0.00 ~ 520 64.84 | ThLS | 000 ~ 000 1.58 7.98 Thlsh 1.00 ) 5.00 ~ 597 64.84 | ThUS | 6.00 ~ 5.97 | 1.58 7.98
5 100kN/mM%E#BZ % ~ -|3mEBZS ~ -| 100kN/m%#8% % ~ -|3mEEZD ~
Zh Lot 100000 ~ 529 656.91 | Ths | 0oo ~ 529|1.78 9.00 Zh Lot 1.00|56.00 ~ 574 656.91 | ThLS | 6,00 ~ 574|178 9.00
g 100kN/M#EHEZ 5 ~ -|3mEEBZS ~ -| 100kN/mi%#8% % ~ -|3mEEZ D ~
Zhsh 1.00 | 000 ~ 522 65.03 | ThLS | 000 ~ 000) 1.66 838 Zhsh 1.00 | 5.00 ~ 5.69 65.03 | TN | 500 ~ 569 | 166 8.38
7 100kN/ M#EREZ 5 ~ -|3mERBZD ~ -| 100kN/mZ#8% % ~ -|3mEEZ D ~
Zzhilst 1001000 ~ 467 5823 | #hdst | 000 ~ o000 1.57 7.91 Zh st 100|500 ~ 522 5823 | TS | 5.00 ~ 522 |1.567 7.91
100kN/mM#%#EX % ~ ImEBZD ~ 100kN/m%#EZ % ~ ImEHBZD ~
Zh s ~ Zh st ~ ZThllst ~ ZTh s ~
100kN/M%H#BZ % ~ ImEBZD ~ 100kN/ mM%#B 2% ~ ImERBAD ~
Zh st i~ Zhilst N Zhilst ~ Zh st ~
100kN/M%#EZ % ~ ImEHBZ D ~ 100kN/mM%Z#BZ % ~ ImEHAD ~
Zh st ~ Zhlst ~ Zhilst ~ Zh st ~
100kN/mM#%#kB X % ~ ImEBZD ~ 100kN/mMZ#B % % ~ ImZEHBZD ~
ZFh st ~ Zhst ~ Fhst ~ Fh s ~
100kN/mMZ#EZ % ~ ImEHBAD ~ 100kN/ mMZ#B %% ~ ImERBZD ~
Zhilst i~ Zhilst N Zhilst ~ Zh st ~
100kN/mM%#EZ % ~ ImEHBRD ~ 100kN/mM%#EZ % ~ ImZHBZRD ~
Zh st ~ Zhst ~ Zhilst ~ Zh st ~
100kN/m%#B X % ~ ImEBZD ~ 100kN/m%#BZ % ~ ImEHBAD ~
Zh st ~ Zhust ~ Fhst ~ ZFh s ~
100kN/mMZ#EZ % ~ ImEHBEZD ~ 100kN/mZ#BZ % ~ ImERBZD ~
Zh st ~ Zhist ~ Zhilst ~ Zh st ~
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